CODE : 9066 (SET-A)

SOLUTION : DANGAL#01 DANGAL rest series . )
SIKAR 1

DATE : 05 March, 2025 for NEET-2025
1 Vv =3+2t u
dx=vdt = dx=(3+2t)dt =V
f f (3+21) V1+2u%at
dx=1(3 +2t)dt 8 y=8t-5t? y=0 t=8/5s
212 8_48_
0 A A
s=(3x3+3)-0=>s=18m 9. Projectionof p on 3=(b.a)a
3. Power of exponential is dimensionless, (¢ 2¢ 2& A 2@ 2&
_ pnp0p 070 1_ pp0j 070 A A A |+J+)('+J+)
20t =ML’ = CT' =M’ = C = _ (2i+j+2k).
3 3
dv [UTﬂ —g[moLoT
and “577 =BC = 32
Ot 8, -~ .~
=—(| +2]j +2k)
9
13 10. Velocity of two boys is different and constant, so
B=|L?2T? relative velocity is non zero and constant.
122 E=hv
o o ML T2 =hT"= h=[ML’T
P L
4 yV=u+at _( '_5J)+ raRral 13.  For maximum range 6 = 45°
2 2 a2 ° 2
N 57, ) ) R:X:u_:H:usm45 :u_zﬁ
= 4+5 I+ —5+§ ) —as5i-46jm/s g 29 49 4
14.  Areaunder a -t graph gives the change in velocity.
5. H = ‘E‘ = ‘If JR|=F = F2 _F2 LF2 1 of2cos@ | 15. Bothobjects are achieving same vertical heights,
: so both have equal vertical components of
cos0 = - = 0=120° velocities. Also both will have equal time of flights
q dx T 2usin0 .
6 V= avx :d_: _adx = jx T _ jt g ) As horizontal range of second
projectile is more it will have more horizontal
2 . . o
x=2t2 =, component of velocity although flight time is
same.
dv 3 v v SoT,=T,and u,>u,
7. =’ 2= =-flat P,=(I)2xR=(2?x(2)=8W
¢ 1 1 16. V,, =&=12.5m/s
=>-—— :—ocf———:oct 4
V7 ' 7. y=1_3¢t whenv=0
1 1+2u-at 0=12-3t° =>t=2s
= —=—+20at = — =
vi ou v2 u? a=-6t =|al=6x2=12m/s
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) DANGAL 7esT SERIES CODE : 9066 (SET-A)
£ B SOLUTION : DANGAL#01 -
> Eﬁ;f o NEET-2025 DATE : 05 March, 2025
18. A ball thrown under gravity if crosses at time t, Vv
112
and t, from a certain point at height h, then sum and F = EO = MLT”* = WOT‘Z
of these times is equal to its flight time.
172740072 = Wy -4
T=t+t,=6+10="16sec Vo =MLT"MLT™ =[MLT"]
T LIS L L B PR
g 2
20. The time taken to cross by the quickest path
S
v 13
The time to cross by shortest path
d d
4= \/vé e = i3 _5 Block beginsj to slide when
om e Fcos® =mgsin6 + uN
; d FcosO = mgsin® + py(mgcoso + Fsino)
27 1 F(cosO - sinB) = mg(sinO + pcoso)
-.From (1) & (2) - mg(sin® + p.cos)
tz—t1=2:g—£=2: d =2 (cose—psine)
12 13 12%x13
= d=312m 25 mg-Y_masa=3}

30 m/s 2 2
21. / : 2
26. 9VSD=6MSD = 1VSD = EMSD

After 4 second under gravity vertical component

of velocity becomes zero. — 1VSD = %(0.01mm)

So velocity is av=30janda=-gj so angle and L.C.=1MSD - 1VSD

between Vanda s 9oe. 2
= L.C. = 0.00lmm - E(O.O1)mm

t=10s

= %mm =0.0033mm

2. 6m

27 AQ x 100 = 2+l><3+§><1+4><l %
' Q 2 2 2

After 10 second velocity of truck =at
=2x10=20m/s (24343000 _o
( 272 = 7%

v =+/(20) + (10 = v =10/5m/s

23.  Argument of trigonometric ratio is dimensionless
therefore pt?= ML°T’ = B = [M°LOTY]

28. Spring force will not change its value instantly
after any disturbance.
2Zmg-mg=ma=a=gdg
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CODE : 9066 (SET-A)

DATE : 05 March, 2025

29.

30.

31

32

33.

34.

35.

36.

A =mnr? =314x(12)* = 45216cm?
Up to correct significant figures A=4.5 cm?

) _ dp_dm 3d(d)

Ty (df p m d
7n7
372

= maximum % error=2+3x3=1%
mg=f=>w=0.2x100=20 N

m m
\

0

Acceleration along the plane

a =gsinod - uxxgcoso

When velocity is maximum a=0
gsind - 0.5 x xgcosO =0

X_isine — tand
05cos0 1 <an
- 9 F =(m+M)ugn
miM o = ng
f, . =Hmg=08x6x10=48N
Fa=kQ2’=F,=8N=>F,<f__
f=F,=f=8N
g><'|OO%
X

a:gsin6)=10><§=6m/s2

SOLUTION : DANGAL#01

WNE ®
DANGAL TesT SERIES @ "%
for NEET=-2025 \ytmey

Y

| §

15 kg —>12 N

37. 6N <«——{15kg

TT
T-6= (1.5) [?}

b c
38, EacM?APVE = MUT? =KM(LT?) (LTT)
a=1b+c=2-2b-c=-2
2b+c=2=b+c=2=b=0=>c=2
39. Reading=12cm+5xLC-0.04cm

u_ _togoA
40. (g+a) 2 t
mg
4. mg-T=—
g 4
3 T 3
—7=29  —==
4 mg 4
B
4. R 0
o
Y
6=180 -«

43.  Minimum accuracy =1MSD -1VSD

= 1—£ MSD=iMSD=i><(0.5mm)=0.01mm
50 50 50

44. V=IR
- R% =V%+ 1%
=4% +1% = 50/0)

dP F
45, F=n—=F=nmv=n=—
dt mv
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/) DANGAL 7esT SERIES . CODE : 9066 (SET-A)
(GR) /- NEET-2025 SOLUTION : DANGAL#01

Answer-Key

1 3 2 4 3. 1 4, 2 5. 4 6. 2 7. 3 8 3 9 1 10. 4
. 2 12. 4 1B3. 2 14. 2 15. 2 16. 2 7. 2 18. 3 19. 2 20. 4
21. 1 22. 2 23. 3 24. 1 25. 2 26. 3 27. 3 28. 1 29. 4 30. 3
31. 1 32, 1 33. 3 34, 1 35. 3 36. 1 37. 4 38. 2 39. 1 40. 3
M. 2 42, 2 43, 2 44, 1 45, 3 46. 1 47. 1 48. 4 49, 4 50. 1
51. 3 52. 3 53. 4 54. 1 55. 1 56. 4 57. 3 58. 3 59. 4 60. 2
61. 3 62. 1 63. 3 64. 3 65. 2 66. 3 67. 4 68. 4 69. 3 70. 4
n 2 72. 4 73. 4 74. 4 75. 2 76. 1 77. 2 78. 4 79. 4 80. 2
81. 4 82. 1 83. 4 84. 2 85. 1 86. 4 87. 3 88. 1 89. 2 90. 1
91. 4 92. 4 93. 4 94. 1 95. 4 96. 2 97. 4 98. 3 99. 3 100. 3
101. 4 102. 4 103. 3 104. 4 105. 3 106. 2 107. 4 108. 3 109. 2 1M0. 2
m. 3 1M2. 2 1m3. 4 ma. 1 115. 1 1m6. 1 mn7. 2 1n8. 3 1m9. 4 120. 1
121. 3 122. 4 123. 1 124. 1 125. 3 126. 4 127. 4 128. 1 129. 3 130. 3
131. 2 132. 3 133. 2 134. 2 135. 4 136. 1 137. 1 138. 4 139. 4 140. 3
1. 4 142. 3 143. 4 144. 1 145. 2 146. 4 147. 1 148. 1 149. 2 150. 1
151. 3 152. 3 153. 2 154. 2 155. 4 156. 1 157. 1 158. 1 159. 4 160. 4
161. 3 162. 1 163. 4 164. 2 165. 2 166. 4 167. 2 168. 2 169. 3 170. 4
171. 1 172. 1 173. 4 174. 4 175. 2 176. 2 177. 1 178. 4 179. 2 180. 3

4 "HHEAEA" Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500



1.

10.

CODE : 9067 (SET-B)

Velocity of two boys is different and constant, so
relative velocity is non zero and constant.

E=hv

ML>T2=hT" = h=[ML*T

vV =12-3t whenv =0

0=12-3t° =>t=2s

a=-6t =|al=6x2=12m/s’

A ball thrown under gravity if crosses at time t,

and t, from a certain point at height h, then sum
of these times is equal to its flight time.

T=t+t,=6+10=16sec

B E U ﬂ _10x16
g >

Power of exponential is dimensionless,

2Ct =ML = CT'= MOLOT? = € = MOLoT

dv BC [UT_q

T =80m/s

PN T+ 12
Vo i+at :(4"51)*[2'*5’}2

1 ~ 2 N ~ A
:(4+5J| +[—5+§}J =45i-46jm/s

Fl-Fi-F

R|=F = F2 ZF? 1 F2 4 2P cost

’

cos0 = —%: 0 =120°

SOLUTION : DANGAL#01

M.

12

13.

14.

15.

16.

WNE ®
DANGAL TesT SERIES @ "%
for NEET=-2025 \ytmey

Y

N
Block begins to slide when

FcosO = mgsin6 + uN

FcosO = mgsin® + py(mgcoso + Fsino)

F(cosB - sinB) = mg(sin® + pcoso)

. mg(sin® + coso)

(cos6 —usin6)

mg-"9 —ma=a=91

2 2

9VSD=6MSD = 1VSD = %MSD

= 1VSD = 3(o.o1mm)
3

and L.C.=1MSD - 1VSD

= L.C.=0.0Imm - 3(0.01)mm
3

= %mm =0.0033mm

mg=f=>w=0.2x100=20 N

0

Acceleration along the plane
a =gsin0d - uxxgcoso
When velocity is maximum a=0
gsin® - 0.5 x xgcosO =0
1 sin®

X=— =2t
0.5 cos0 =X and

m+M =he

F=(m+M)ugn

b ¢
Eoc M? AP VS = MU T =KM?(LT?) (LT7)
a=1b+c=2-2b-c=-2
2b+c=2=b+c=2=b=0=>c=2
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ANE O
() DANGAL TEST SERIES

CODE : 9067 (SET-B)
H z SOLUTION : DANGAL#01
5 f..‘(;f . for NEET-2025 DATE : 05 March, 2025
17. Reading=12cm+5x%xLC-0.04cm 29. The time taken to cross by the quickest path
u —E-a—z_u_g t—g—g
B gra) 27t v 13
The time to cross by shortest path
AX
19. —x100% d d
X t = =
. 3 i \/V;oat - ui\/ater \/132 -5’
20. a=gsm6:10><§:6m/s2
L _d
21 6N <+—{15kg - 15 kg —>12 N 2712
- From (1) & (2)
12—
T-6= (1.5)(—6] d d d
3 tL-t=2=> —-—-=2= =2
12 13 12x13
m 3m T 3 =
2. mg- =—g:T=—g:—=— = d=312m
4 4 mg 4 /T) 30 m/s
30.
B
3. R > 0 After 4 second under gravity vertical component
K) > of velocity becomes zero.
0 =180 - o So velocity is av=30janda=-gj so angle

24.  Minimum accuracy =1MSD -1VSD between vVanda js goe.

= 1—£ MSD=iMSD=i><(0.5mm)=0.01mm t=10s
50 50 50
a5 12905100224 1x31 2 x14ax ) |% 3 |em
' Q 2 2 2
- (2 + 3 i 3 n 2]% -7 After 10 second velocity of truck =at
=2x10=20m/s
26. Spring force will not change its value instantly v=J207 +(10) = v 10\/§m/s

after any disturbance. ) ) o )
32.  Argument of trigonometric ratio is dimensionless

2Zmg-mg=ma=a=
9-ms 9 therefore pt?= MOL°T® = B = [M°LOT™2]

27.  A=mnr’ =314x(12)* = 45216cm?

V
Up to correct significant figures A=4.5 cm? and F=— = MILUT? = —2—
B MOLoT
3d(d )
28. p = m = L - d—p = d_m + L Vo — M1L1T—2M0LOT—2 = [M1L1T 4]
Vo4 (gy P m d
_n(_J B, fyng =HMg=08%6x10= 48N
3 \2 Fa=kQ2’=F,=8N=>F,<f__
= maximum % error=2+3x3=1% f=F,=f=8N
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CODE : 9067 (SET-B)

SOLUTION : DANGAL#01

34.

35.

36.

37.

38.

39.

40.

V=IR
R%=V%+1%
=4% + 1% = 5%)

dP F
F=n—=F=nmv=n=—
dt mv

For maximum range 6 = 45°

R=X=—"L

g

4 2 _X
. u’sin’45" U

29 4g 4
Areaunder a - t graph gives the change in velocity.
Both objects are achieving same vertical heights,
so both have equal vertical components of
velocities. Also both will have equal time of flights

2usin® )
T= g . As horizontal range of second

projectile is more it will have more horizontal
component of velocity although flight time is
same.

SoT,=T,and u,>u,
P,=()°xR=(2°x(2)=8W

V ?—125m/s

av

V= OL\/—S——OL\/_ 3j \/— jt

062

2
X=Tt = xoct?

4.

42.

43.

44,

DANGAL vesT SERIES G
for NEET-2025

dv
d_v:—ogv3 :>fx—3=—fﬁoct

dt

\

1 1
== == tIt———:oct
2ve, v 2u?

1 1 1 1+20%at
=>—=—+20t o, —=—"T""
viou? v? u?

u
>V=—
V1+2u%at
y = 8t—5t? y=0 t=8/5s
X = 6x§=ﬁ:9.6m
5 5

Projection of p on 3 = (6,5)5

f+ 2}+ 2I2) (?+ 2]+2I2)
3 3

A

= (2?+j+2|2)-(

8nr ~ 0
_§(| +2j+ 2k)
vV =3+2t
dx=vdt = dx=(3+2t)dt

Idx:f(3+2t)dt

2t?
X¢ — {3t + —}
2
0

s=(3x3+3)-0=s5=18m

"BHIYEA Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500 3



/) DANGAL 7esT SERIES ) CODE : 9067 (SET-B)
(GR) /- NEET-2025 SOLUTION : DANGAL#01

Answer-Key

1. 4 2. 2 3. 4 4, 2 5. 3 6. 2 7. 1 8. 2 9. 4 10. 1
n 2 12. 3 1B. 1 14. 1 15. 3 16. 2 17. 1 18. 3 19. 3 20. 1
2. 4 22, 2 23. 2 24, 2 25. 3 26. 1 27. 4 28. 3 29. 4 30. 1
31. 2 32, 3 33. 1 34. 1 35. 3 36. 2 37. 2 38. 2 39. 2 40. 2
4. 3 42. 3 43. 1 44. 3 45. 4 46. 4 47. 1 48. 1 49. 3 50. 3
5. 2 52. 4 53. 2 54, 4 55. 4 56. 2 57. 4 58. 1 59. 4 60. 3
61. 1 62. 4 63. 2 64. 1 65. 2 66. 4 67. 4 68. 3 69. 4 70. 4
n 3 72. 3 73. 4 74. 1 75. 3 76. 3 77. 2 78. 3 79. 1 80. 2
81. 1 82. 4 83. 2 84. 1 85. 3 86. 4 87. 1 88. 1 89. 4 20. 4
9. 3 92. 4 93. 4 94, 2 95. 4 96. 3 97. 2 98. 4 29. 1 100. 3
101. 4 102. 1 103. 4 104. 1 105. 3 106. 2 107. 2 108. 4 109. 1 1M0. 4
m. 2 1M2. 4 1m3. 4 1M4. 4 115. 1 1m6. 3 1n7. 4 1m8. 3 1M9. 2 120. 3
121. 3 122. 4 123. 1 124. 1 125. 1 126. 2 127. 2 128. 2 129. 3 130. 3
131. 4 132. 3 133. 4 134. 3 135. 3 136. 4 137. 1 138. 1 139. 4 140. 1
141. 1 142. 2 143. 2 144. 4 145. 4 146. 4 147. 2 148. 4 149. 3 150. 4
151. 3 152. 2 153. 2 154. 3 155. 1 156. 4 157. 4 158. 1 159. 1 160. 4
161. 2 162. 3 163. 2 164. 1 165. 2 166. 2 167. 3 168. 1 169. 4 170. 4
7. 2 172. 1 173. 3 174. 3 175. 4 176. 1 177. 2 178. 1 179. 1 180. 4

4 "HHEAEA" Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500



	SOLUTION-NEET_DANGAL#01 (SET-A)_PAGE_4_CODE_9066_COPY_6000.pdf (p.1-4)
	SOLUTION_NEET_DANGAL#01 (SET-B)_PAGE_4_CODE_9067_COPY_3800.pdf (p.5-8)

